. * 4
sREvs AMfAw IerauE va gferor aRye, U= (STREUs)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

YA WEfE ThET (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfager wes g ¥e-02
Model Question Paper SET-02

Far-12 (@M0S) | fawy- srawiRe i | @#- 1 der 30 e qUie-40
AT -

> weft weeT arfaard ¥
It is mandatory to answer all the questions.
> weal T FT HEAT 40 ¥ |
The total number of questions is 40.
> Yl e & fav 1 3w AuiRa §
Each question carries 1 mark.
> UA® N & AT IR ey R v &1 5o ¥ v @d Rew &1 99 AfFw |
Each question is provided with 4 options. Choose the correct option.
> Ied 3T & AT FE 3iF A FI& ST |

There will be no negative marking for any wrong answer.

1. 3¢ 57,91 e ®T DIF A1 Ug 27 87
Which term of the sequence 5,7,9........... is 27?
(a) 13" (b) 11
(c) 10™ (d) 12*

2. @ 9 & nal g 4n+ 1 5 B8Rl
The nth term of the series is 41 + 1. The series is in-
(a) G.P (b) A.P
(c)H.P (d) None of these
3. x &1 |4 7 B o) 8x + 4, 6x — 2, 2x + 7 GEI=R & # B WY |

The value of x suchthatx +4,6x — 2, 2x + 7 will forman A.Pis;
(a)15 (b) >
(c) 2 (d) None of these

4, 43R 199 99 4 FH=R 9rg BN :
The A.M between 4 and 19 are :
(a)7,10,13,16 (b) 15,12,9,16

(c) 16,13,10,7 (d) None of these
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5. 79 fawifsra 89 areil <1 sl o fbaeh deamg gl ?
How many two digit numbers are divisible by 7?
(a) 10 (b) 12

(c) 13 (d) 14
6. uﬁ%,a,ZW%ﬁg‘rma’ra:?

IF %, a,2 arein A.P, then a=?
(a)7/8 (b) 11/8

(c)5/6 (d) 3/8

7. 10 3R 200 & <=9 O v ==l &1 AT 2|
The sum of all odd number between 10 and 200 is;

(a) 7450 (b) 7500
(c) 7560 (d) 7600
8. 9dt —2,—6—,—18 ......... q 7 UGl TP BT AT T
The sum of the series —2,—6—, —18. ........ upto 7" term is;
(a) 1094 (b) -1049
(c) -1094 (d) None of these

9. I 1+2+4+8+...... N UGI BT ANTHel B |
The sum of the series 1+2+4+8+...... n terms will be
(a)2"-1 (b)2n —1

(c) zin -1 (d) None of these

10. & B HAR Y& BT U GAF & A TH BT T @ ¢
If the ratio of the consecutive terms of a progression are same then it is known as :
(a) G.P (b) common difference

(c) A.P (d) None of these
11. IRr &1 99 39§ (1) & wurer e r > 1 8 Sn 8rm |

If the value of r is more than 1 r>1, then s, will be equal to

a(1-r™) a(r"-1)
@)=/ (b) =———
(c) an (d) None of these
12. ’s‘{aﬁ§+%+§ ........ ® M dP BT ANTH & :
The sum up to infinity of the series % + % + % ........ is:
(a) % (b) Y4
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(c) (d) none of these

13. 4 3R 9 &1 Uitk AR B |

GMof4and 9
(a)6.5 (b) 5.5
(c)9.01 (d) none of these

14. OGRS &1 <94l U
The 10" term of GP 24,12,6.......is?

(a) - (b) =
(c) = (d)

15. 7p,mR &
7p.is equal to
(a)o (b) 1

(c) 2 (d) 3

16 7!X5'«wEx 3
7! X 5!is equal to
(a) 5040 (b) 4920
(b)5703 (d) none
17. 8 TSP B M § T G B |
8 boys can form aringin;
(a) 8! (b) 7!
(c) 6! (d) 5!

18. “MONDAY” g & 3Rl B fhae AT T IR | A= &R 9o B |
How many different arrangements can be made with the letter of the word
“MONDAY”?

(a) 6! (b) 8!

(c) 4! (d) none of these

19. % -c, waR B
¢, —%¢,is equal to
(a) °cq (b) *c,

(c) “cs (d) none

20. p, @1 AA
The value of 'p,is
(a) 4¥3%2%1 (b) 7*6*5*4

Page 3 of 7



(c) 7*4 (d) 7*6

21. % 1,2,3,4,5,6,7,8,9 ¥ 100 3R 1000 & &= =T BT
number between 100 and 1000 with digit 1,2,3,4,5,6,7,8,9 will be

(a) °p; (b) °ps
(c) °pa (d) none

2 4
22. |5 G|meme

The value of [_21 g] will be

(a)10 (b)8
(c)5 (d) none
| ; g|$1 A B

The value of |; g|

(a)é (b) 0
(c)3 (d)8

24, m%A—|x 2 x- 7|—0a’rx?mm=rsﬁ7rr|

The value of x if A = |x 2 x—7| =0

x—3
(a)3/2 (b) 5/2
(c)5 (d) none

1 1 2
25.9RP% 1 2 x=6T x & 949 &N |
1 0 2
1 1 2
If determinants 1 2 x =6, then find the value of x
1 0 2
(a)8 (b)5
(c)6 (d) 10

26. <1 Ufad T B9 R ARG BT A BN |
The value of determinants if two row are equal

(a) -1 (b) 1
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(c)o (d) None of these

27. |192 i|aﬂm:f€ﬁm

The value of |192 Z|

(a)o (b)a
(c)6 (d)12

28.3fF A = [3 —58] a A’ BT H BRI |

2 5

If A = [ ] then the value of A’

7 -8
@[5 7 [ 7]
(c) [é —78] (d) [; _58]

29.!11%B=[_31 i]aa—ZBasTm:r%|

ep_[—1 2
The value of —2B if B = [ 3 4
2 4 -2 6
(a) [—6 8] (b) [ 4 8
2 -4
(c) [—6 —8] (d) none
2 x]_12 1
so.m%[y 0]-[4 O]a‘rxsﬁ'\rymm?rs’nﬂl
2 x]_12 1 .
If [y ol* [4 O] then the value of x and y will be
(a) X=1,y=4 (b) x=2,y=0
(c) x=4, y=0 (d) x=1,y=4

sLara=[ L 2| e=[2 S|w 4+ By @m

If A= [_11 g] B= [i i] then (4 + B)' will be

35]

5 4
3 4 (b)[4 3

(@ |
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(c) [g i (d) none

32.aﬁv=[g i]aﬁ?2x+y=[_13 g]aacma;gxmm%l

If Y= [g i] and2x +y = [_13 (2)] then value of Matrix x is
@ [ Tl o[ 7
(c) [_25 :3] (d) none

33. 49 PH TS QUIG & HHead BRI |
the set of positives integer less than 4 is
(a)(-1,0,1,2) (b) (-2,-1,0,3)
(c) (1,2,3) (d) (1,4)
34. | 99T Y 8 § dfa 3R dad Ife

Two sets are disjoint if and only if

(@QJANB=0¢ (b)ANB =@

() A—B =0 (d)A—-B =B
35.afx U={1,2,3, ......... 9},A=1{1,2,3,4,5},B = {6,7,8}} then
(a) A’ (b) b’
(c) A (d) none

36. A={1,2,3} gorr B={3,4,5} &1 99 3} 2

The symmetric difference of A={1,2,3} and B={3,4,5} is
(a){1,2,4,5} (b) {4,5}
(c) {1,2} (d) {2,5,1,4,3}

(3,6,7,8,9} is

37. IR AGTBr =@ s UdR g fd n(4) =90,n(B) =70n(AUB) = 150 @&

n(AnB) g

If A and B are two sets such that n(4) = 90, n(B) = 70n(AuU B) = 150

Thenn (AN B)is
(a)20 (b) 10
() 40 (d) 50
38. (AUB) N (A’ nB") W 7 (is equal to)
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(a)A (b)B

(c) U (d) @
39. Raa Gz W T Fl........8 |
Null set is a............ of all sets
(a) Suag==a (sub set) (b) Raa wg==ra(Null set)

(c) srvem gz (single set) (d) none

40. 7 AT B X1 9= 39 USR ® f& n(A)=25, n(B)=17,n(AU B) = 3579 n(A-B)®
If A and B are two sets such that n(A)=25, n(B)=17,n(AU B) = 35 then n(A-B) is
(a)18 (b) 17

(c) 10 (d) none
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